Questions for: PROBLEM SET 12

Name ______________________  Section ______________________

1. Return to your workbook.  Why would L.M. never hire more than 20 workers?  Explain.

2. Consider your graphs of total and marginal product.  At what level of employment do diminishing returns set in?  Explain.

3. a) What is the difference between marginal revenue product and marginal product?

b) What is the difference between marginal factor cost and marginal cost?

4. Look at your graph of the market for textile workers.  What is the equilibrium wage in the market for textile workers?  What is the equilibrium quantity of workers hired in this large market?

WAGE = __________

Q LABOR = __________

5. Use your spreadsheet and graphs to determine the optimal number of workers for L.M. to hire.  Explain why it would be a mistake to hire more or fewer workers than the optimal quantity.

FIRM EMPLOYMENT = __________

6. Consider the new market conditions, which reflect the impact of increased competition for U.S. produced textiles.

a) Use your workbook and graphs to determine the optimal quantity of textile workers for L.M. to hire given this new price of $10 per bolt.

FIRM EMPLOYMENT = __________

b)  Across the wider economy, who wins and who loses when competition with foreign producers increases?  Explain.

7. When the price of cloth fell, did L.M. hire more or fewer workers?  Explain how this relates to the concept of derived demand.

8. Notice that if this market is truly perfectly competitive, other firms in the industry will be responding to the increase in textile prices in the same way that L.M. is.  All firms will be contracting and decreasing their labor forces.  If this is the case we would expect the market demand for labor to shift to the left.  Suppose the new demand relationship is defined as:

DMD-W2 = 200 – 5Q

Return to your workbook.  Modify the market demand curve for labor in cells B27 – B47 to reflect this new demand relationship.  What is your new equilibrium wage rate?

Go to cell G4. Enter the new marginal factor cost for L.M. in cells G4:G24.  Add this new MFC curve to your diagram.

a) What is the new wage rate in the market for textile workers?

WAGE = __________

b) How many workers will L.M. hire with this new wage?

FIRM EMPLOYMENT = __________

9.  Do some research on the internet regarding the recent opposition to globalization.  What is globalization?  List 3 reasons why some people in the international community oppose it so seriously.
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